x1xcos(30°+ ZBAC+30°)

2
EZG2=[lEiJ +12—2xJ?-

43
7 J?[? J3 3 2 13
=—+1-2x X = X =—
3 J3

— X
2 J7 02 (7] 3

10. A ABER FHFAMEL(L,2,2)HERL FHE, :2x+3y+62=104
FHE, 2x+3y+6z=—4- A LYWE -~ E, FRBBARES

(b2 B 280
(112 A B 7 ]
21
il
|10-(-4)| 3x7 21 21
zZ: dlE. E gl= T T
(£ 2, Jrlseet] 7 | (1.2.3)(2.3.6) -

INLEEAF BB RS MEEEREE AR 0T
FHEARGERERL 2 O WEFRTR
EoHmm e BT A MR HMEREFERE 5o
WETREERHE R BMETAE KRB REFHEEAHS R — N A E -
EHER B OB E TAE— ARt mTEAEER
(1) M 9 £ 3R 74 6400
)t L BA 7 P E BT 8
fBldn : Eth i MREBRET AS5-8-2-8 HI W3 A 5828 » FIEIFEER o
R LA - #EH B 8RR A BT AR A B e o [112 53 P8 ]

]« 1554
B MOO0 -~ BIOOCT#E (4#88) =C] x=ox5-103
EIOICIO ~ B BILT O] w4588 ( 26488 ) =1x3=3

4588 =1x4=4

@HDD\@EDD\@@DD\@@DD%%( 7
T4 88= C x21x4=168

61811 (1 s445 88 = C x21=56
|
488=C x2ox2=42
DOO0 - OO0 % # 3
T488=C, x3!x2=672

BICIC 4 45% =C, x3t=504
AEP 15547




ERED - REEFIERER (16 24 2)
12-14 B & R4

WabBER > EROBLEFENEE - B kBB S (v)-ax’ BEHE
HQ:x” +y” =3y+b=0 %i@i@ﬁ%ﬁ(l,éj A CHQ MY - HE R
S8 1% T8 JE -

12,2 K 11 B COSCP 3 # Hi8h 3 fH o [112 52 R E0T ]

1
ol
J2

| : y:ax2 , +y2 —3y+b=0 - %i@P(l,

—
—

}:a—wb

J

b | =
(R
=S

b | wo

2
Q:(xf())z +(y%j = :>[%:\‘3C(0,

(0,—%}-(1,—1) |

= cosf = =

B i J2
2

13. 8% # y=f(x) B EQIEPEAH LR W - (112 24 B 8L ]

1 2 1 1 1 1 1
B o y=—x WP, — |ZWBELE— yv+— |=—1x Dx—y=—
i o ( 2] a 2(y 2} 2 Y75
o 1 1 1 3 1 1
x"+y By+—=0- 8P| 1,— |2WHHEx+—y——| y+— |+—=0
b i b1 ( ZJZJJEU% T 2(3} 2] 7

1 -
5 Y WA - AR

4.3k y=f(x) % L H RO T EULFE B R Y TR - L1102 5 #HA $F ]

:i_i

| l{i—\lz—xz —%x2:|dx= ;|:—x2 +3°242-52 }dx




15-17 A AL
AREFE L BT AT CERBERBEL yE LR E o Ol R B gt ie8 0 #

(£H0<0<z) WHLEBEBT BRAFHET - 40x° +45xp+41y" =180 - %

[-%%J%r LRERRENTEE - R REETHHE -
ISBET HEE& A o (fbAREMN) [112 -3 BB 8 7 |
ERg
3 2

:Fﬁ»ﬂ‘zzJ(%} +[¥J =245
16. 8k T GBI E W ERFERBEE R - (112 55 AR BT ]
[&]: V5x-2y=0" 4

245
ved I 1 e . 3 T 2 5 /e 1><—£
[ mEha = =5 A =

3
SEmTER : J5x-2y=0

ééﬁf'*ﬁ/\(i i} (_i,_£} B =4

3 3

1788 Lw—BPEhBREEGFEP Baxs L HP BEmlx BRERRO0-

BoR P B A AE o [112 48 FlB s E ]
8¢ - ]

TR Ec i W A FPE RO

_ 2 Js Jz
o =THECH 5 T1FH=
3 3

0 2




	112年分科測驗數(甲)試題+詳解0_頁面_5
	112年分科測驗數(甲)試題+詳解0_頁面_6
	112年分科測驗數(甲)試題+詳解0_頁面_7

